HSC 2002 - Personal Development,
8  How can the incidence of lifestyle-related morbidity be reduced in Australia? Health and Physical Education

(A) By increasing individual responsibility and reducing government action
(B) By increasing research and improving education
v (C) By modifying the environment and changing behaviour

(D) By raising awareness and implementing medical advances

Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6

A 4 2.80 1.50 0.50 0
B 3940 45 41.20 32.20 17.10
C 17.30 22.70 34.10 52.60 80.10
D 3940 29.10 23.10 14.60 2.70
N 0 0.20 0.20 0 0
Question 8 : % answers correct by band range
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The table and graph show, for the groups of students whose marks in the examination
corresponded to the borderline between two bands, what percentages of each group
selected the responses A, B, C and D. N is used to identify: No valid response.
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